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. What are the, value of the underlined, digits in the
Pollowing numbenrs?

,263
1,245
9,104
345
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Introduction

How can the place value grid help you to add 10,100 or 1,000
to any number?

How many digits change when you add 10,100 or 1,0007 Is it
always the same number of digits that change?

How can we represent 65,048 on a number line?

How can we estimate a number on a number line if there are
no divisions?

Do you need to count forwards and backwards to find out if a
number is in a number sequence? Explain.
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Fl.uf,r\pg/ - Do it

A number is shown in the place value grid.
10,000s | 1,000s 100s 10s 1s

Write the number in figures and in words,
Alex adds 10 to this number
Tommy adds 100 to this number
Eva adds 1,000 to this number
Write each of their new numbers in figures and in words.

Complete the missing numbers.
59,000 = 50,000 +
= 30,000 + 1,700 + 230




Fluency - Do it ANSWERS

|
A number is shown in the place value grid.

10000s | 1000s | 100s 10s

Write the number in figures and in words.
+  Alex adds 10 to this number

«  Tommy adds 100 to this number

* Evaadds 1,000 to this number

Write each of their new numbers in figures and in words.

2.

Complete the missing numbers.

59,000 = 50,000 + __9,000

31,930 — 30000 + 1700 + 230

Number: 52,485 or\mw»o
Unousond;{ﬁo*whundred,and
eighty fuve

Ales's number: 52,495 O{\m
Tommxé/’& rumber: 52,5985 or
ond, eghty e

Eua's number: 53,485 or\(wltg/
thpeethousand,,(ﬁounhundred
ond, eghty fuve



Rewsor\ing/— Secure it

Here is a number line.

| | | | | 1 | :
2000
What is the value of A?

B is 40 less than A.
What is the value of B?

C is 500 less than B,
Add C to the number line.

Here are three ways of partitioning
27,6350

27 thousands and 650 ones
27 thousands, 5 hundreds and 150 ones
27 thousands and 65 tens

Write three more ways



Phoblmvsol/wng/\ - Deepenv it

Rosie counts forwards and backwards in
10s from 317

Circle the numbers Rosie will count.

427 997 —7
1,666 5,210 5627

—25 14 -3

Explain why Rosie will not say the other
numbers.
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Here is a number line. A =2800 Rosie counts forwards and backwardsin | 427
A 997
A 10s from 317
> B -2760 5627
2000 B 5000 Circle the numbers Rosie will count. 7 3
What is the value of A? A -
B + b _23
| S 427 || 997 || -7 |
Bis 40 less than A. A it
What is the value of B? r - r ny positive
1666 | 3210 | [ 5627 | ' numbervill have
Cis 500 less than B. toendina?
Add C to the number line. —23 ] 7 ] -3 ] Any negative
|
Here are three ways of partitioning Possible answers: Explain why Rosie will not say the other number will have
27650 numbers. toendina 3
2 ten thousands, &
27 thousands and 650 ones hundreds and 5

27 thousands, 5 hundreds and 150 ones | tens
27 thousands and 65 tens
20 thousands, 7
Write three more ways thousands and
650 ones



Plenany

below:

Remembentousememgjbtoshowhowwdbgmund@stoodﬁheWALT.

Roll o dice 6 times to create 6 digits.
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